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HiE CH*E 2A3H

S ES RERE | EEX
1 1 [UR=VS [ERE 85.7%
2 [VR=2F |EIRE 71.4%

3 |WR=VY  [EFEIRE 85.7%

2 4 |YR=ZY | EIREX 100.0%
5 |URZ=2S | FEIRE 71.4%

3 6 VA=Y [FEIRE 100.0%
1 |URZ=VST | EIRE 71.4%

8 |UR=Y | EIREX 100.0%

9 |WR=VY [FEIRE 57.1%

10 |UR=2S | EIREX 100.0%

11 [YVR=VS  [FEIRE 85.7%

12 |UR=2S | ZEIREX 100.0%

13 VA=Y [FEIRE 71.4%

14 |[YR=2Y  [FEIRE 85.7%

15 [JR=VT  [EIRER 57.1%

A 1 [U—T742% [EIREX 85.7%
2 |)—T42% [FEIRE 57.1%

3 |U—T129 | EIRE 85.7%

4 | )—T 425 |FEIREK 100.0%

5 |U—Ta2 |EIRE 85.7%

B| 1 [ 6 [UJ=T124 [[#IRX 100.0%
1 =T |EIRE 100.0%

| 8 |U—T425 EIRE 85.7%

9 |U—T124 |EIRE 85.7%

cl 110 [)—FT425 [EREK 28.6%
11 |J—T129 |FEIREX 14.3%
|12 |U—T425 EREX 57.1%
13 |J—T129 |EIREX 57.1%

D 14 |)—T424 [FEIRE 71.4%
15 |U—T129 |EIREX 57.1%

16 |—T 424 |Gk 14.3%

17 |V—T42% |Gtk 42.9%

18 |U—T 427 |5Eik 0.0%
SAT409 | EEX 0.0%

Sl ES EEARE | EEX
1 1 [UR=VS [EREX 85.7%
2 [YRZ=VYS  |SEIRE 85.7%

3 [YR=LYS EBIRE 71.4%

2 4 |YRZ=VY  |EREX 71.4%
5 VA=Y | EIRER 57.1%

3 6 |[YUR=VYS |EIRE 85.7%
7 WA=V [EIRE 100.0%

8 [UR=VY |EIRE 57.1%

9 |UR=Y |ERE 100.0%

10 [YR=2S | SBIRE 100.0%

11 VA=Y [EIRE 57.1%

12 [YR=2Y  |SBIRE 42.9%

13 [VR=4Y [ EIRE 100.0%

14 [YR=2Y | #BIRE 100.0%

15 |VR=2  [ERE 85.7%

A 1 (V=745 [EIREX 85.7%
2 |)—T425 | FEREK 57.1%

3 |U—T42T ERE 28.6%

4 =715 EIRE 42.9%

5 |U—T425 ERE 85.7%

B| 1 [ 6 [U=FT42% [[#IRX 100.0%
1 =712 FEIRE 100.0%

n| 8 |U—T425 |EIRE 100.0%

9 |U—T425 ERE 100.0%

cl 1|10 [V=—TFT1425 [ERE 71.4%
11 |U—T125 EIRE 85.7%

| 12 |U—T425 |ERE 71.4%
13 |U—T125 EIRE 57.1%

D 14 [)—T429 EREK 71.4%
15 |U—T125 EIRE 85.7%

16 |U—FT 424 |ieuk 42.9%

17 |U—F742% |geik 28.6%

18 |U—T 1> [ECihk 14.3%
SAT49 |EAEX 0.0%

Bl ES EARE | EEXE
1 1 [URZ=VS EREX 100.0%
2 VA=V EIRER 44.4%

3 WA=V | EIRE 66.7%

2 4 |YR=24 [FEIRE 77.8%
5 VA=Y | EIRE 77.8%

3 6 VA=Y | FEIRE 100.0%
7 VA=V [EIRE 100.0%

8 [VR=2F |:E#EIREX 88.9%

9 |WR=Y |FERE 88.9%

10 [YUR=2S | #BIRE 100.0%

11 |YR=VY [ FEIRER 88.9%

12 [YR=2S | #BIRE 100.0%

13 |[YR=Y | FEIRE 55.6%

14 |YR=2Y9 IR 88.9%

15 [JR=VT  [EIRER 55.6%

A 1 [V—F712% [EIRE 100.0%
2 |)—FT425 |FEREK 55.6%

3 |U—T125 EIRE 44.4%

4 | Y—T125 EIRE 22.2%

5 |U—T129 EIRE 88.9%

B| 1 [ 6 [U=FT429 IR 77.8%
7 =712 FEIRE 88.9%

m| 8 |U—T425 |FEIRE 55.6%

9 |U—T125 EIRE 0.0%

cl 1|10 |[U—TFT1425 EIRE 44.4%
11 |U—T125 EIRE 77.8%
|12 |U—FT425 |FERE 55.6%
13 |U—T125 |EIRE 55.6%

D 14 |)—T425 |FEIRE 44.4%
15 |U—T125 EIRE 44.4%

16 |V—T 424 |5tk 0.0%

17 |V—T4>% |5tk 22.2%

18 |U—T 427 5ok 11.1%
SATAY | FEEX 0.0%




